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	He (                ) explained why the project is behind schedule.

	A (                ) of twenty percent is required.

	The heat wave affected the (                ) region this summer.

	Everyone was happy with the survey results, (                ) the manager.

	Your supervisor will (                ) your work performance.

	The article (             ) that the company made the wrong decision.

	The supermarket chain announced a (                ) with a rival company.

	No one (                ) to his proposal.

	You can buy food on the (                ).

	Our sales have been increasing (                ).

	Explanations have to be clear and (                ).

	The human body needs a (                ) supply of water.

	There has been much (                ) on food safety.

	Birth rates are (                ) around the world.

	I took out travel (                ).

	The instruction manual was (                ).

	Safety (                ) will visit the construction site next week.

	He examined the (                ) carefully.

	The police (                ) the protesters from entering the building.

	Sales are better than we (                ).


